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Eight people P, Q, R, S, T, U, V, and W live 
on eight different floors of the building 
but not necessarily in the same order. 
Each person lives in a building with floors 
numbered as 1 to 8 from bottom to top.  U 
lives on an odd-numbered floor above the 
fourth floor. Only three people live 
between U and W. Number of people live 
above W is same as the number of people 
live below P. Three people live between P 
and R. V lives on an odd-numbered floor 
immediately above Q. Only two people 
live between V and S. T lives on the 
lowermost floor. 

आठ व्यक्ति P, Q, R, S, T, U, V और W इमारि
कीआठअलग-अलग मकं्िलों पर रहिे हैं
लेककन िरूरी नहीं कक इसी क्रम में हों। प्रत्येक
व्यक्ति एक इमारि में रहिा है क्िसकी मकं्िल
नीचे से ऊपर िक 1 से 8 िक है। U चौथी
मकं्िल के ऊपर एक विषम सखं्या िाली मकं्िल
पर रहिा है। U और W के बीच केिल िीन लोग
रहिे हैं। W के ऊपर रहने िाले लोगों की सखं्या
P के नीचे रहने िाले लोगों की सखं्या के समान
है। P और R के बीच िीन लोग रहिे हैं। V, Q के
ठीक ऊपर एक विषम सखं्या िाली मकं्िल पर
रहिा है। केिल दो लोग रहिे हैं V और S के बीच
में। T सबसे ननचली मकं्िल पर रहिा है।
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Who lives immediately below U?
A. R B. U C. Q D. P E. W

Q lives on the _________________ floor.
A. 4 th B. 6 th C. 2 nd D. 1 st E. None of the 
above

.Who lives on the 3 rd floor? 
A. P B. Q C. R D. T E. W 

Who lives on the topmost floor? 
A. S B. P C. R D. Q E. T

How many people live between U and W? 
A. 2 B. 3 C. 4 D. 6 E. 5
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Ten people are born in five different 
months i.e. January, March, June, 
September, and October of the same year, 
two people were born in one month. 
Note: Persons born in the same month 
are "time twins" i.e. they were born at 
the same time on the same day, in the 
same month. W was born just before S 
and just after V. U and P were born in the 
same month having 31 days. S was born 
in a month having 30 days. R is just elder 
than X and just younger than Q. X is 
neither the youngest nor the eldest 
person in the group. Y is elder than T who 
was not born in the same month as S. 

एक ही िषष के पांच अलग-अलग महीनों यानी
िनिरी, माचष, िनू, ससिंबरऔर अतटूबर में
दस लोगों का िन्म हुआ, एक महीने में दो लोगों
का िन्म हुआ। नोट: एक ही महीने में पैदा हुए
व्यक्ति "टाइम ट्विन्स" होिे हैं यानी िे एक ही
ददन, एक ही महीने में एक ही समय में पैदा हुए
थे। W का िन्म S के ठीक पहलेऔर V के ठीक
बाद में हुआ था। U और P का िन्म 31 ददनों
िाले एक ही महीने में हुआ था। S का िन्म 30 
ददनों िाले महीने में हुआ था। R, X से ठीक बडा
है और Q से ठीक छोटा है। X न िो सबसे छोटा है
और न ही समहू में सबसे बडा व्यक्ति है। Y, T से
बडा है िो S के समान महीने में पैदा नहीं हुआ
था।
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T was born before _____________ but after ________________. 
A. Y, R B. Y, S C. V, Q   D. U, P    E. None of the above

S was born in ___________. 
A. January B. March C. June D. October E. None of the above

.Who among the following was born in January? 
A. W B. V C. X D. U E. None of the above

How many people are younger than R? 
A. 3 B. 4 C. 2 D. 6 E. None of the above

P was born in the month of _______________. 
A. January B. March C. October D. June E. September
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A certain number of persons are sitting in 
a row facing to the north. M sits 4th to 
the right G. There is one person sits 
between D and G. Three persons sit 
between M and P. The number of persons 
sitting between D and M is same as the 
number of persons sitting to the right of 
P. Only one person sits between A and G. 
Q sits 3rd to the left of T and sits to the 
right of A. Six persons sit between A and 
Q. Both T and K are immediate neighbors 
to each other. S sits 3rd to the left of K. 
The number of persons sitting to the right 
of K is same as the number of persons 
sitting to the left of D.

एक ननक्चचि सखं्या में व्यक्ति उत्तर कीओर
मखु करके एक पंक्ति में बैठे हैं। M, G के दायें से
चौथे स्थान पर बैठा है। D और G के बीच एक
व्यक्ति बैठा है। M और P के बीच िीन व्यक्ति
बैठे हैं। D और M के बीच बैठे व्यक्तियों की
सखं्या P के दाईंओर बैठे व्यक्तियों की सखं्या
के समान है। A और G के बीच एक व्यक्ति
बैठिा है। Q, T के बाएं से िीसरे स्थान पर बैठिा
है और A के दाईंओर बैठिा है। A और Q के बीच
छह व्यक्ति बैठिे हैं। T और K दोनों एक दसूरे के
ननकटिम पडोसी हैं। S, K के बायें से िीसरे
स्थान पर बैठा है। K के दायीं ओर बैठे व्यक्तियों
की सखं्या, D के बायें बैठे व्यक्तियों की सखं्या
के समान है।
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How many persons sit between Q and K? 
(a) Four (b) Six (c) Seven (d) Nine (e) None of these

What is the total number of persons sitting in a row? 
(a) Twenty (b) Sixteen (c) Fourteen (d) Nineteen (e) Can’t be 
determined

What is the position of D with respect to M? 
(a) 6th to the left (b) 3rd to the left (c) 4th to th e left (d) 5th to 
the left (e) None of these

If Z sit between A and M then find how many persons sit 
between G and Z? (a) None (b) One (c) Two (d) Three (e) None 
of these

Who among the following sits 4th to the right of P? 
(a) T (b) Q (c) S (d) K (e) None of these
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Eight girls M, N, O, P, Q, R, S and T are sitting 
on a circular table, not necessarily in the 
same order, such that some of them are 
facing an inward direction and others are 
facing an outward direction. N is sitting 3rd 
to the left of R, who is facing inside. Four 
girls are sitting between M and N. O, who is 
facing outside the table, is an immediate 
neighbour of neither M nor N. P faces the 
same direction as the person seated 
opposite to her is facing. T sits fifth to the 
left of Q, who is not adjacent to N. S and R 
is not facing the same direction. P sits to the 
immediate left of N. T and M face the same 
direction but opposite to P. S doesn't sit 
exactly between R and M.

आठलडककयां M, N, O, P, Q, R, S और T एक
ितृ्ताकार मेि पर बैठी हैं, िरूरी नहीं कक इसी क्रम
में हों, कक उनमें से कुछ का मुख अंदर की ओर है
और अन्य का मुख बाहरी ददशा की ओर है। N, R 
के बायें से िीसरे स्थान पर बैठा है, क्िसका मुख
अंदर की ओर है। M और N के बीच चार लडककयां
बैठी हैं। O, िो मेि के बाहर की ओर उन्मुख है, न
िो M और न ही N का ननकटिम पडोसी है। P का
मुख उसी ददशा में है, क्िस ददशा में उसके विपरीि
बैठे व्यक्ति का मुख है। T, Q के बाएं से पांचिें
स्थान पर बैठा है, िो N के आसन्न नहीं है। S और
R का मुख समान ददशा की ओर नहीं है। P, N के
ठीक बायें बैठा है। T और M का मुख समान ददशा
में है लेककन P के विपरीि है। S, R और M के ठीक
बीच में नहीं बैठा है।
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Who sits sixth to the left of M? 
A. O B. R C. N D. T E. None of the above

How many people face outside the table? 
A. 5 B. 3 C. 2 D. 4 E. None of the above
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There are seven friends i.e. A, B, C, D, E, F and G who all 
lives in a multi-story building such that ground floor is 
numbered 1 and above it is numbered 2 and so on till 
the last floor which is numbered 7. Only two person 
lives between D and E. D lives on an odd number floor. 
Only one person sits between C and D. Only two person 
sits between C and F. Only two persons live between G 
and F. B lives one of the floor below A. More than 
Three person lives between G and A. 

साि समत्र अथाषि A, B, C, D, E, F और G हैं, िो सभी एक बहुमंक्िला
इमारि में इस प्रकार रहिे हैं कक भूिल की संख्या 1 है और इसके
ऊपर की संख्या 2 है और इसी िरह अंनिम मंक्िल िक िो
क्रमांककि है 7. D और E के बीच केिल दो व्यक्ति रहिे हैं। D विषम
संख्या िाली मंक्िल पर रहिा है। C और D के बीच केिल एक
व्यक्ति बैठा है। C और F के बीच केिल दो व्यक्ति बैठे हैं। G और F 
के बीच केिल दो व्यक्ति रहिे हैं। B, A के नीचे ककसी एक मंक्िल
पर रहिा है। G और A के बीच िीन से अधिक व्यक्ति रहिे हैं।
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Q1. C lives on which of the following floor? 
(a) 3rd Floor (b) 2nd Floor (c) 7th Floor (d) 1st 
Floor (e) None of these

Q2. Who among the following lives on the 
second floor? 
(a) F (b) A (c) G (d) E (e) None of these

Q3. How many persons lives above the floor on 
which B lives? 
(a) No One (b) Two (c) One (d) Four (e) None of 
these
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Q4. Which of the following statement is true 
regarding D? 
(a)D lives immediately above F. 
(b) A live immediately below D’s Floor. 
(c) D lives one of the floor below G. 
(d) C lives one of the floor below D. 
(e) All are True.

Q5. Four of the following given five belongs to a 
group find the one that does not belongs to that 
group? 
(a) B (b) A (c) G (d) C (e) D
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Q6. Which of the following digit will be sixth to the left of tenth from the right end? ननम्नसलखखि में से 
कौन सा अंक दायें छोर से दसिें के बायें से छठा होगा?
(a) 6 (b) 9 (c) 5 (d) 2 (e) None of these

Q7. How many 2’s are there in the series which are followed by a number less than 6? 
श्ृंखला में ऐसे ककिने 2 हैं क्िनके बाद 6 से कम संख्या आिी है?
(a) One (b) None (c) three (d) Two (e) More than three

Q8. What will be the addition of fifth, seventh and tenth digit from the left end?
बाएं छोर से पांचिें, साििें और दसिें अंक का योग तया होगा?
(a) 13 (b) 10 (c) 11 (d) 15 (e) None of these
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Q9. If all the perfect square digits are removed from the series, then which of the following 
will be fifth to the right of sixth from the left end? 
यदद श्ृंखला से सभी पूर्ष िगष अंक हटा ददए िाएं, िो ननम्नसलखखि में से कौन बाएं छोर से 
छठे के दायें से पांचिें स्थान पर होगा?
(a) 5 (b) 2 (c) 8 (d) 1 (e) None of these 

Q10. How many odd numbers are there in the given series which are immediately followed 
by an perfect square digit? 
दी गई श्ृंखला में ऐसी ककिनी विषम संख्याएँ हैं क्िनके ठीक बाद एक पूर्ष िगष अंक है?
(a) One (b) None (c) three (d) Five (e) Seven
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Q15. If it is possible to make only one meaningful word with the 1st, 3rd, 4th, 5th letters 
of the word DEGRADE, which of the following will be the second letters of the word ? If 
no such word can be made, give 'X' as the answer and if more than one such word can 
be made, give 'Y' as the answer. 
यदद शब्द DEGRADE के पहले, िीसरे, चौथे, पांचिें अक्षरों से केिल एक अथषपूर्ष शब्द 
बनाना सभंि है, िो ननम्नसलखखि में से कौन सा शब्द का दसूरा अक्षर होगा? यदद ऐसा 
कोई शब्द नहीं बनाया िा सकिा है, िो उत्तर के रूप में 'X' दें और यदद एक से अधिक 
ऐसे शब्द बनाए िा सकिे हैं, िो उत्तर 'Y' दें।

(a)G 
(b) A 
(c) R 
(d) X 
(e) Y
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How many such pair of letters are there in the word ‘RANDOM’ each of them as many 
as letters between them as they have according to the alphabetical order? 
शब्द 'RANDOM' में अक्षरों के ऐसे ककिने युग्म हैं, क्िनमें से प्रत्येक के बीच उिने ही 
अक्षर हैं क्ििने उनके बीच िर्ाषनुक्रम के अनुसार हैं?
(a)four (b)Three (c)One (d)Two (e)None of these
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A certain number of persons are sitting in row facing 
north. Q sits fifth to the right of V. Three person sit 
between V and A. S sits fifth to the left of A. Only 
one person sit between V and D. X sits third to the 
right of D. Only three persons sit between X and C. Q 
is third from the right end. Only six persons sit 
between P and T. P is an immediate neighbor of X. S 
is not the immediate neighbor of D.

एक ननक्चचि संख्या में व्यक्ति उत्तर की ओर मुख करके
पंक्ति में बैठे हैं। Q, V के दायें से पांचिें स्थान पर बैठा है। V 
और A के बीच िीन व्यक्ति बैठे हैं। S, A के बाएं से पांचिें
स्थान पर बैठा है। V और D के बीच केिल एक व्यक्ति बैठा
है। X, D के दायें से िीसरे स्थान पर बैठा है। X के बीच केिल
िीन व्यक्ति बैठे हैं। और C. Q दायें छोर से िीसरे स्थान पर
है। P और T के बीच केिल छह व्यक्ति बैठे हैं। P, X का
ननकटिम पडोसी है। S, D का ननकटिम पडोसी नहीं है।
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Q17. If S is at extreme left end then how many persons 
are sitting in the row? 
(a)11 (b)17 (c)13 (d)14 (e)12

Q18. If B sits exactly between T and S then what is the 
position of B with respect to A? 
(a)Third to the left (b) Third to the right 
(c) Second to the left (d)Fourth to the right 
(e) None of these

Q19. If G sits second to the right of P then how 
many persons are sitting between G and V? 
(a) Two (b) One (c) Five (d) 
Three (e) None of these
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Q20. If R sits third to the left of S, then how 
many persons are sitting between R and D? 
(a)Twelve (b) Ten (c) Fifteen (d) 

Nine 
(e) None of these

Q21. Who among the following is fifth to the 
right of A? 
(a) S (b) P (c) R (d) X (e) Q
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Q22. There are five persons i.e. F, G, H, I and J. If G is taller than H and J but smaller than 
F. I is smaller than H, who is not the second smallest. Then who is the third tallest person 
among all? 
यहाँ पाँच व्यक्ति हैं अथाषि ्F, G, H, I और J। यदद G, H और J से लबंा है लेककन F से छोटा 
है। I, H से छोटा है, िो दसूरा सबसे छोटा नहीं है। िो सभी में से िीसरा सबसे लबंा व्यक्ति 
कौन है?
(a) J (b) G (c) F (d) H (e) None of these
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There are eight friends i.e. A, B, C, D, E, F, G and H who 
all sits around a square table such that four of them sit 
at the four corners and face towards the centre and 
other four sit on the middle of the side who faces 
outside. B sits third to the left of C, who sits second to 
the right of E. Only two persons sits between E and D. 
B does not sits opposite to D. G sits second to the right 
of F. G is not the immediate neighbour of D. A is not 
the immediate neighbour of B. H does not face outside 
the centre of the table.
आठ समत्र अथाषि A, B, C, D, E, F, G और H हैं िो सभी एक िगाषकार
मेि के चारों ओर इस प्रकार बैठिे हैं कक उनमें से चार चार कोनों पर
बैठिे हैं और कें द्र की ओर उन्मुख होिे हैं और अन्य चार कें द्र की ओर
उन्मुख होिे हैं। िह पक्षिो बाहर कीओर उन्मुख हो। B, C के बायें से
िीसरे स्थान पर बैठा है, िो E के दायें से दसूरे स्थान पर बैठा है। E 
और D के बीच केिल दो व्यक्ति बैठे हैं। B, D के विपरीि नहीं बैठा है।
G, F के दायें से दसूरे स्थान पर बैठा है। G ननकटिम पडोसी नहीं है।
D का. A, B का ननकटिम पडोसी नहीं है. H का मुख मेि के कें द्र से
बाहर कीओर नहीं है.

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

Q23. Four of the following five belongs to a 
group find the one that does not belong to that 
group? 
(a) D (b) B (c) C (d) F (e) G

Q24. Who among the following sits opposite to 
B? 
(a) F (b) D (c) E (d) A (e) None of these

Q25. How many persons sits between B and A 
when counted from the right of A? 
(a) No One (b) Two (c) Three (d) One (e) None of 
these
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Q26. Who among the following sits on the 
immediate right of E? (a) F (b) A (c) B (d) G (e) 
None of these

Q27. Who among the following sits second to 
the right of H? 
(a) G (b) C (c) F (d) A (e) None of these
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There are eight members i.e. A, B, C, D, E, F, G and H who belong to a family having three generation. D is the 
only daughter of H and she is unmarried. H is the father-in-law of G. F is the son of A, who is husband of E. B 
and D are siblings. F is the brother of G. C is the grandson of E. आठ सदस्य अथाषि ए, बी, सी, डी, ई, एफ, िी 
और एच हैं िो िीन पीढी िाले पररिार से संबंधिि हैं। D, H की इकलौिी पुत्री है और िह अवििादहि है। H, G का 
ससुर है। F, A का पुत्र है, िो E का पनि है। B और D भाई-बहन हैं। F, G का भाई है। C, E का पोिा है।

Q28. How G related to H? 
(a) Son (b) Daughter (c) Son-in-law (d) Daughter-in-law (e) 
None of these

Q29. How is B related to C? (a) Brother (b) Son (c) Father 
(d) Mother (e) None of these

Q30. Who among the following is the grandfather of C? (a) 
H (b) D (c) F (d) G (e) E 
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Seven boxes K, L, M, N, O, P, Q are placed one 
above another. More than three boxes are 
placed between L and P. Only one box is placed 
between box N and O. Box N is placed above box 
L. Box Q is placed immediately above K. Only one 
box is placed between Q and M. Not more than 
one box is placed between P and K. Box Q is not 
placed above O.

साि डडब्बे K, L, M, N, O, P, Q एक दसूरे के ऊपर रखे गए हैं।
L और P के बीच िीन से अधिक बॉतस रखे गए हैं। बॉतस N 
और O के बीच केिल एक बॉतस रखा गया है। बॉतस N को
बॉतस L के ऊपर रखा गया है। बॉतस Q को K के ठीक ऊपर
रखा गया है। Q और M के बीच केिल एक बॉतस रखा गया
है। अधिक नहीं P और K के बीच एक डडब्बा रखा है। डडब्बा
Q, O के ऊपर नहीं रखा गया है।
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Q31. Which of the following box is kept at the top? (a) Q 
(b) L (c) N (d) O (e) None of these

Q32. Which of the following box is placed immediately 
above box M? (a) Q (b) L (c) N (d) K (e) None of these

Q33. How many boxes are kept between box L and box K? 
(a) One (b) Three (c) Two (d) Four (e) None of these

Q34. How many boxes are kept below box Q? 
(a) Three (b) Two (c) One (d) More than Three (e) None

Q35. Which of the following box is placed immediately below 
box O? (a) Q (b) L (c) N (d) K (e) None of these
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There are eight members i.e. A, B, C, D, E, F, G and H who belong to a family having three generation. D is the 
only daughter of H and she is unmarried. H is the father-in-law of G. F is the son of A, who is husband of E. B 
and D are siblings. F is the brother of G. C is the grandson of E. आठ सदस्य अथाषि ए, बी, सी, डी, ई, एफ, िी 
और एच हैं िो िीन पीढी िाले पररिार से संबंधिि हैं। D, H की इकलौिी पुत्री है और िह अवििादहि है। H, G का 
ससुर है। F, A का पुत्र है, िो E का पनि है। B और D भाई-बहन हैं। F, G का भाई है। C, E का पोिा है।

Q28. How G related to H? 
(a) Son (b) Daughter (c) Son-in-law (d) Daughter-in-law (e) 
None of these

Q29. How is B related to C? (a) Brother (b) Son (c) Father 
(d) Mother (e) None of these

Q30. Who among the following is the grandfather of C? (a) 
H (b) D (c) F (d) G (e) E 
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Seven boxes K, L, M, N, O, P, Q are placed one 
above another. More than three boxes are 
placed between L and P. Only one box is placed 
between box N and O. Box N is placed above box 
L. Box Q is placed immediately above K. Only one 
box is placed between Q and M. Not more than 
one box is placed between P and K. Box Q is not 
placed above O.

साि डडब्बे K, L, M, N, O, P, Q एक दसूरे के ऊपर रखे गए हैं।
L और P के बीच िीन से अधिक बॉतस रखे गए हैं। बॉतस N 
और O के बीच केिल एक बॉतस रखा गया है। बॉतस N को
बॉतस L के ऊपर रखा गया है। बॉतस Q को K के ठीक ऊपर
रखा गया है। Q और M के बीच केिल एक बॉतस रखा गया
है। अधिक नहीं P और K के बीच एक डडब्बा रखा है। डडब्बा
Q, O के ऊपर नहीं रखा गया है।
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Q31. Which of the following box is kept at the top? (a) Q 
(b) L (c) N (d) O (e) None of these

Q32. Which of the following box is placed immediately 
above box M? (a) Q (b) L (c) N (d) K (e) None of these

Q33. How many boxes are kept between box L and box K? 
(a) One (b) Three (c) Two (d) Four (e) None of these

Q34. How many boxes are kept below box Q? 
(a) Three (b) Two (c) One (d) More than Three (e) None

Q35. Which of the following box is placed immediately below 
box O? (a) Q (b) L (c) N (d) K (e) None of these
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If the given words are arranged in the order as they appear in a dictionary from left to right, which of the 
following will be third from the right end? यदद ददए गए शब्दों को उस क्रम में व्यिक्स्थि ककया िािा है क्िस 
क्रम में िे बाएं से दाएं एक शब्दकोश में ददखाई देिे हैं, ननम्नसलखखि में से कौन दाएं छोर से िीसरा होगा?
(a) ROW (b) JET (c) TEA (d) PIN (e) HUB

How many letters are there in the English alphabetical series between the second letter of the word which is 
second from the left end and the second letter of the word which is second from the right end? अंगे्रिी 
िर्षमाला श्ृंखला में शब्द के दसूरे अक्षर िो बाएं छोर से दसूरा है और शब्द का दसूरा अक्षर िो दायें छोर से 
दसूरा है, के बीच ककिने अक्षर हैं?
(a) One (b) Two (c) Three (d) Four (e) None

Q3. If in each of the given words, the first alphabet is replaced by its previous alphabet and second alphabet 
is replaced by its following alphabet as per the English alphabetical order, then how many words thus 
formed will be without any vowels? यदद ददए गए प्रत्येक शब्द में, पहले िर्ष को उसके वपछले िर्ष से और 
दसूरे िर्ष को अंगे्रिी िर्षक्रम के अनुसार उसके ननम्नसलखखि िर्ष से प्रनिस्थावपि ककया िािा है, िो इस 
प्रकार ककिने शब्द बबना स्िर के बने होंगे?
(a) None (b) One (c) Two (d) Three (e) Four
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If in each of the given words, the second alphabet is replaced by its previous alphabet and third 
alphabet is replaced by its following alphabet as per the English alphabetical order, then how many 
words thus formed will have more than two consonants? यदद ददए गए प्रत्येक शब्द में, दसूरे िर्ष को 
उसके वपछले िर्ष से और िीसरे िर्ष को उसके ननम्न िर्ष से अंगे्रिी िर्षक्रम के अनुसार प्रनिस्थावपि 
ककया िािा है, िो इस प्रकार बनने िाले ककिने शब्दों में दो से अधिक व्यंिन होंगे?
(a) None (b) One (c) Two (d) Three (e) Four 

Q5. If in each of the given words, every consonant is changed to its previous letter and every vowel is 
changed to its next letter according to the English alphabetical series, then in how many words, thus 
formed, at least one vowel will appear? यदद ददए गए प्रत्येक शब्द में, प्रत्येक व्यंिन को उसके वपछले 
अक्षर से बदल ददया िािा है और प्रत्येक स्िर को अंगे्रिी िर्षमाला श्ृंखला के अनुसार उसके अगले अक्षर 
में बदल ददया िािा है, िो इस प्रकार ककिने शब्दों में, कम से कम एक स्िर ददखाई देगा?
(a) None (b) One (c) Two (d) Three (e) None of these
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Ten persons are sitting in two parallel rows equidistant 
from one another facing each other. A, B, C, D and E are 
sitting in row 1 facing south and P, Q, R, S and T are 
sitting in row 2 facing north (not necessarily in the same 
order). C sits third to the left of D. E is not an immediate 
neighbor of D. C faces Q. One person sits between R and 
Q. P is not an immediate neighbor of Q. B sits second to 
the right of C. S sits second to the right of T. R is not an 
immediate neighbor of P.

दस व्यक्ति दो समानांिर पंक्तियों में एक दसूरे से समान दरूी पर एक
दसूरे की ओर मुख करके बैठे हैं। A, B, C, D और E पंक्ति 1 में दक्षक्षर्
कीओर मुख करके बैठे हैं और P, Q, R, S और T पंक्ति 2 में उत्तर की
ओर मुखकरके बैठे हैं (िरूरी नहीं कक इसी क्रम में)। C, D के बायें से
िीसरे स्थान पर बैठा है। E, D का ननकटिम पडोसी नहीं है। C का मुख
Q कीओर है। R और Q के बीच एक व्यक्ति बैठा है। P, Q का ननकटिम
पडोसी नहीं है। B, C के दायें से दसूरे स्थान पर बैठा है। S बैठा है। T के
दायें से दसूरे स्थान पर है। R, P का ननकटिम पडोसी नहीं है।

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

Q6. Who among the following sits to the immediate 
left of T? 
(a) P (b) S (c) R (d) Q (e) None of these

Q7. What is the position of E with respect to C? 
(a) Third to the left (b) Third to the right (c) 
Immediate left (d) Immediate right (e) None of these

Q8. Who faces D? (a) S (b) P (c) R (d) Q (e) None of 
these

Q9. Who faces the immediate neighbor of Q? 
(a) B (b) A (c) D (d) E (e) None of these

Q10. Four of the following five are alike in a certain 
way and hence form a group. Who among the 
following does not belong to that group? (a) E (b) T 
(c) D (d) S (e) A
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Q11. On which date of the month did Harsh celebrated his Birthday? 
I. Harsh correctly remembers that he celebrated his birthday on an even numbered date of the month. 
II. Harsh’s friend correctly remembers that he celebrated his birthday after 26th but before 30th of the 
month. 

हषष ने महीने की ककस िारीख को अपना िन्मददन मनाया था?
1.हषष को ठीक से याद है कक उसने अपना िन्मददन महीने की एक सम संख्या िाली िारीख को मनाया था।
2.हषष के समत्र को ठीक से याद है कक उसने अपना िन्मददन 26 िारीख के बाद लेककन महीने की 30 िारीख 
से पहले मनाया था।

(a) If the data in Statement I is sufficient to answer the question while the data in Statement II is not 
required to answer the question 

(b) If the data in Statement II is sufficient to answer the question, while the data in Statement I is not 
required to answer the question 
(c) If the data in either Statement I alone or Statement II alone is sufficient to answer the question 
(d) If the data neither in Statement I nor in Statement II together are sufficient to answer the question 
(e) If the data in the Statement I and II together are necessary to answer the question 
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Q12. How many marks did Saurabh scores in the hundred marks exam? 
I. Saurabh scored two digits marks and his marks was completely divisible by 19. 
II. Saurabh scored more than sixty percent but less than ninety percent of total marks 

सौ अंकों की परीक्षा में सौरभ ने ककिने अंक प्राप्ि ककए?
सौरभ ने दो अंकों के अंक प्राप्ि ककए और उसके अंक 19 से पूरी िरह विभाज्य थे।
द्सौरभ ने साठ प्रनिशि से अधिक लेककन कुल अंकों के नब्बे प्रनिशि से कम अंक प्राप्ि ककए

(a) If the data in Statement I is sufficient to answer the question while the data in Statement II 
is not required to answer the question 

(b) If the data in Statement II is sufficient to answer the question, while the data in Statement 
I is not required to answer the question 
(c) If the data in either Statement I alone or Statement II alone is sufficient to answer the 
question 
(d) If the data neither in Statement I nor in Statement II together are sufficient to answer the 
question 
(e) If the data in the Statement I and II together are necessary to answer the question 
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Q13. Who among J, K, L, M and N is the shortest? 
I. J is shorter than K. M and N are not shorter than K. 
II. L is shorter than K. 

J, K, L, M और N में से सबसे छोटा कौन है?
1.J, K से छोटा है। M और N, K से छोटे नहीं हैं।
2.L, K से छोटा है।

(a) If the data in Statement I is sufficient to answer the question while the data in Statement II is 
not required to answer the question 

(b) If the data in Statement II is sufficient to answer the question, while the data in Statement I is 
not required to answer the question 
(c) If the data in either Statement I alone or Statement II alone is sufficient to answer the question 
(d) If the data neither in Statement I nor in Statement II together are sufficient to answer the 
question 
(e) If the data in the Statement I and II together are necessary to answer the question
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Five friends K, L, M, N and O earn different salaries. N earns less than K and L. M earns less than 
only one person. O earns more than only two persons. K earns 2 lakhs and is not the highest.
पांच दोस्ि K, L, M, N और O अलग-अलग िेिन कमािे हैं। N, K और L से कम कमािा है। M केिल 
एक व्यक्ति से कम कमािा है। O केिल दो व्यक्तियों से अधिक कमािा है। K 2 लाख कमािा है 
और उच्चिम नहीं है

Q14. What could be the salary of O? 
(a) 1 lakhs (b) 1.5 lakhs (c) 1.75 lakhs (d) 2.5 lakhs (e) Less 
than one lakhs

Q15. Who among the following earns lowest salary? (a) K 
(b) L (c) O (d) N (e) None of the above
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Point A is 16m to the East of Point B. Point D is 6m to the South of Point B. Point E is 4m to the North of Point 
A. Point C lies exactly between Point A and Point B. Point G is 8m to the East of Point D
बबदं ुA, बबदं ुB के पूिष में 16 मीटर है। बबदं ुD, बबदं ुB के दक्षक्षर् में 6 मीटर है। बबदं ुE, बबदं ुA के उत्तर में 4 
मीटर है। बबदं ुC, बबदं ुA और बबदं ुB के ठीक बीच में है। बबदं ुG, बबदं ुB से 8 मीटर दरू है। प्िाइंट डी के पूिष

Q21. In which direction is Point G with respect to Point E? 
(a) North (b) Northeast (c) South (d) Southwest (e) Cannot 
be determined

Q22. What is the shortest distance between Point G and 
Point A? (a) 8m (b) 9m (c) 10m (d) 12m (e) None of these

Q23. If Point H is 8m to the West of Point E, then how far is 
Point H from Point G? (a) 4m (b) 8m (c) 10m (d) 12m (e) 
None of these
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In a family of seven members there are four female members. H is the mother of J. E is sister-in-law of H. L is 
the only brother of E. M is the father of L. K is sister of J. N is mother-in-law of H. 
साि सदस्यों के एक पररिार में चार मदहला सदस्य हैं। H, J की माँ है। E, H की ससस्टर-इन-लॉ है। L, E का 
इकलौिा भाई है। M, L का वपिा है। K, J की बहन है। N, H की सास है।

Q24. How is J related to E? (a) Niece (b) Nephew 
(c) Sister (d) Brother (e) Either (a) or (b)

Q25. How is N related to K? (a) Aunt (b) Mother 
(c) Grandmother (d) Daughter (e) Cannot be 
determined

Q26. How is M related to H? (a) Uncle (b) Father 
(c) Brother (d) Father-in-law (e) None of these
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Q27. If “summer is hot” is coded as “mo ka pa”, “may is summer” is coded as “ti ka mo”, 
then “hot may” will be coded as? 
यदद "समर इि हॉट" को "मो का पा" के रूप में कोड ककया िािा है, "मे इि समर" को 
"टी का मो" के रूप में कोड ककया िािा है, िो "हॉट मे" को तया कोड ककया िाएगा?
(a) ka mo (b) mo ti (c) pa ka (d) ti pa (e) Cannot be determined
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Q28. How many pairs of letters are there in the word” WINTER” which have as 
many letters between them in the word as in alphabetical series? 
शब्द “WINTER” में अक्षरों के ऐसे ककिने युग्म हैं क्िनके बीच उिने ही अक्षर हैं 
क्ििने कक िर्ाषनुक्रम में हैं?

(a) One (b) Two (c) Three (d) Four (e) None of these
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Q29. If all the alphabets are rearranged within itself as they appear in the English dictionary 
in the word “TELEPHONIC” then which of the following will be third to the left of eighth 
from the left end? 

यदद अगें्रिी शब्दकोश में "TELEPHONIC" शब्द में सभी अक्षर अपने आप में व्यिक्स्थि हो 
िािे हैं, िो ननम्नसलखखि में से कौन बाएं छोर से आठिें के बाएं से िीसरा होगा?

(a) H (b) I (c) L (d) N (e) None of these
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Q30. Find the odd one out? 
(a)ACE 
(b) FHJ 
(c) KMO 
(d) PQT 
(e) UWY
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Seven persons M, N, O, P, Q, R and S like different movies viz. 
Dangal, Dabangg, Veer-Zara, Gangajal, Airlift, Ram-Leela and 
Barfi. All of them like different channels viz. Colors, Zee, Sony, 
Star plus, HBO, MTV and UTV(but not necessarily in the same 
order). P likes Veer-Zara. O likes Sony Channel. The one who 
likes Ram-Leela likes HBO. Q likes Gangajal movie but does not 
likes Colors or Star plus. The one who likes Veer-Zara likes 
channel Zee. S likes Barfi but does not like Colors channel. R 
likes UTV but does not like Dangal. M likes movie Dabangg.

साि व्यक्ति M, N, O, P, Q, R और S अलग-अलग कफल्में पसंद करिे हैं अथाषि।
दंगल, दबंग, िीर-िारा, गंगािल, एयरसलफ्ट, राम-लीला और बफी। उन सभी को
अलग-अलग चैनल पसंद हैं िसेै। कलसष, जी, सोनी, स्टार प्लस, एचबीओ, 
एमटीिी और यूटीिी (लेककन िरूरी नहीं कक इसी क्रम में हों)। P को िीर-जारा
पसंद है। O को सोनी चैनल पसंद है। िह व्यक्ति क्िसे राम-लीला पसंद है उसे
एचबीओ पसंद है। Q को गंगािल कफल्म पसंद है लेककन कलसष या स्टार प्लस
पसंद नहीं है। िह व्यक्ति क्िसे िीर-जारा पसंद है, चैनल जी पसंद करिा है। S को
बफी पसंद है लेककन कलसष चैनल पसंद नहीं है। R को यूटीिी पसंद है लेककन
दंगल पसंद नहीं है। M को कफल्म दबंग पसंद है।
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Q31. Who among the following likes movie Ram-
Leela? (a) M (b) N (c) R (d) O (e) None of these

Q32. Who among the following likes channel 
Star plus? (a) The one who likes Dabangg (b) N 
(c) The one who likes Airlift (d) The one who 
likes Barfi (e) None of these

Q33. Who among the following likes MTV? (a) P 
(b) S (c) The one who likes Gangajal (d) The one 
who likes Dabangg (e) None of these
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Q35. Which among the following combination is 
correct? 
(a)M - HBO 
(b) R – Ram-Leela 
(c) Gangajal - Colors 
(d) All are true 
(e) None is true

Q34. Which of the following statement is true? 
(a)O likes movie Ram-Leela 
(b) S likes channel MTV 
(c) The one who likes Dabangg likes Colors 
channel 
(d) The one who likes Airlift likes channel Star 
plus 
(e) None is true
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